Pocetni operace se zapornymi Cisly

Vypocitejte:

@ 1 -3 (b) 4 —9
0 -54+46 (d —-6+8
(e) —2-—3 (f) 25 -6

Pocetni operace se zapornymi Cisly

Vypoditejte:

@ 10+ -3 (b) 7 — +6
(0 —4+ -2 (d —6— 43
(e) 3+ +7 fl —46 + —4

Vypocitejte:

@ 6——4 (b) +8— —1
(¢ -1—-—-5 (@d) -3 --9
() 35-—-—-2 (f —05-—-—-45

Vypocitejte:

@ 1-3 (b) 4 —9
0 -54+46 (d —-6+8
(e) -2 -3 (f) 25 -6

Vypoditejte:

@ 10+ -3 (b) 7 — +6
() -4+ -2 (d —-6-— 43
(e) 3+ +7 fh —46 + —4

Vypocitejte:

@ 6——4 (b) +8— —1
(0 -1—-—-5 @d -3--9
() 35 —-2 () —0.5 — —45

Vypocitejte:

@) 2 Xx-—-4 (by —7 X 3
() —-5X%X+4+6 (d +2x -9
(e) —6XxX-3 (f) 7x-=7
(99 -4 XxX-5 (h) +2 x —-05
i) -3x-3 @G (=3)?

Vypocitejte:

@) 2 x-—-4 (by -7 x 3
() —-5x%x+4+6 (d +2 x -9
(e) —6x-3 (f) 7x-=7
(99 -4 xXx-5 (h)y +2 x -05
i) -3x-3 @G (=3)?

Vypocitejte:

(a) 8 +-=2 (b) -9 =3

(c) =25 ++45(d) +12 + —4
(e) —-30+-3 (f) +10 = +2
(99 -7 +-1 (h) =20+ =25

Vypocitejte:

(@) 8 +-2 (b) -9 =+ 3

(c) =25 ++45(d) +12 + —4
(e) —-30 +-3 () +10 = +2
(99 -7 +-1 (h) =20+ =25

Vypocitejte:

(@) -6+ —-5-— -7

(b)y (-2 x —=5)— -9

(© (-6 + —4

d 5+ -7)x@B- -1

Vypocitejte:

() -6+ —=5-— -7

(b) (-2 x =5)— -9

(© (-6 + —4

d 5+ -7)x@B- -1




